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Meiosis Practice Worksheet

Identifying Processes On the lines provided, order the different stages of meiosis | THROUGH meiosis I,
including interphase in the proper sequence.

1 M*Q?‘\-QSQ\ homologous chromosome line up in the center of the cell
2 A‘Y\QQV\Q se \ spindle fibers pull homologous pairs to ends of the cell
3 Tc\oekq,sg/cabk\“eﬁl apqad (N) daughter cells form

4. Syr\*VWSLS cells undergo a round of DNA replication

5. ‘ ) \ \C(?KQSQ ‘ Homologous chromosomes separate from each other

G.M&L%k\\\”gh‘aploid (N) daughter cells form

7.Me‘\*~e\\a5€. \ spindle fibers attach to the homologous chromosome pairs

8. Qﬂk@b&m Q individual chromatids move to each end of the cell
9. MQ\ crossing-over (if any) occurs

Short Answer
10. Compare the number and type of cells that result from meiosis vs. mitosis.
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11. How do the genetic contents of cells resulting frorpqitosis and meiosis differ?
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12. Comparing and Contrasting: describe a similarity and a difference between meiosis | and meiosis Il.
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13. Applying Concepts: If a diploid cell containing 28 chromosomes undergoes meiosis, how many
chromosomes will each daughter cell have?
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Difference:



14. Cdmpare and Contrast: How are mitosis and meiosis similar and different? * mu H'( \-e

Similarity:» CQ'\\ D'\V \S\_O‘(\
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Read each statement, and then on the line write down the phase of,
the action occurs in both, write both. The first one is done for you

1 metaphase | (meiosis) homologous chromosome line up in the
center of the cell
' m4ostS
2 A“\‘J\D\&* 2 d’ W“J%e individual chromosomes move apart.
3 HV\CAQV\OSQ ! spindle fibers pull homologous pairs to

ends of the cell

4. MD_QMSQ \ a Cqb k\ V\CS(‘S & haploid (N) daughter cells form

5. V\& < OS‘ "bs egs undergo a round of DNA replication

Se_

6. MC‘hDMS'e Q\ / W\\ The chromosomes line up across the

middle of the cell.

7 D(\SDV\OSC \ / o D\‘ QSQ‘“Hoéromosomes become visible.

‘V\CLS e ‘ Homologous chromosomes separate from
"(Q\O h‘o-f / ad 'fb kineql f each other
M \'\-05 tS / ‘K-\OQ °~’ellaplgc;’(bl\l) c}aughter cells form

10. d ( ‘g:s\ter chromélds break into individual
chromosomes.

1. Q\\ '\"Q-\OQ‘/\.QGG—S Nuclear envelope re-forms.

12.&&@&%& ‘ Spindle fibers attach to the homologous
chromosome palrs
A’V\OB\V\CGQ 9‘ & n\ﬂbb\\ ‘ ' N Indi dual chromatlds move to each end of

Q\ the cell
14. QfOP GLSCS The nucleolus disappears and the nuclear

mosq lj\f

ifosis or meiosis that the action occurs. IF

m\ *Q) S envetope beaks down.

M k&S e 9~ & Aﬂq@@%%m chr_omosome is connected to a

spindle fiber.

Wo‘pme ‘ Crossing-over (if any) occurs

!




IDENTIFY THE PHASES OF MEIOSIS:
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